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Simplify each of the following exponents:

1. B(x-14)

2. Xx(x+4)

3. -3x(5-x)

N /

CHECK POINT #1

Simplify the equation using FOIL Simplify the equation the BOX method
Y =(x+2)(x-10) Y =(x+3)(x-b5)
X -5
X
3

CHECK POINT #2

Simplify the equation using FOIL
Y =(x -5)(x +4) Y=(x+8)(@2x + 1)




CHECK POINT #3

Simplify the equation using the Box Method

y = (x + 7)x - 2)

SELF ASSESS:

y = (2x - 6)(x - 2)

EXIT TICKET
SELF ASSESS:
Simplify the equation using FOIL Simplify the equation the BOX method
1. Y=x+5)(x-10) 2. y=(x-1)x + 6)

3. y=(3x-5)x + 8) 4,

Y = (4x +2)(x +5)




